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Analysis the beam as a Singly reinforced beam

False!

Analysis the beam as a Singly reinforced beam.
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C i lCompute nominal moment

 
n s y 2

aM A f d   
 

  2

2
2.451 in.4.0 in 50 ksi 24.0 in.

 
   
 

  4.0 in 50 ksi 24.0 in.
2

4554 9 k-in 379 58 k-ft

 
 

 4554.9 k in. 379.58 k ft.



ExampleExample -- LL--BeamBeamExample Example -- LL--BeamBeam

Compute ultimate moment
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HomeworkHomework

Work ProblemsWork  Problems 

1. 5.10 parts a and b1. 5.10 parts a and b

2. 5.11 parts a and b

3. 5.12 parts a and b.


